

P1a)
Def:

$$\begin{aligned}
 &= \frac{1}{\sqrt{2\pi}} \int_0^{\infty} e^{-inx} e^{-2x} dx + \int_{-\infty}^0 e^{-inx} e^{5x} dx \\
 &= \frac{1}{\sqrt{2\pi}} \left[\int_0^{\infty} e^{-x(2+in)} dx + \int_{-\infty}^0 e^{x(5-in)} dx \right] \\
 &= \frac{1}{\sqrt{2\pi}} \left[\frac{e^{-x(2+in)}}{-(2+in)} \Big|_0^{\infty} + \frac{e^{x(5-in)}}{5-in} \Big|_{-\infty}^0 \right] \\
 &= \frac{1}{\sqrt{2\pi}} \left[\frac{1}{2+in} + \frac{1}{5-in} \right] = \boxed{\frac{7}{\sqrt{2\pi}(n^2+3in+10)}}
 \end{aligned}$$

Conv. Propiedades

a) $f(x) = e^{-2x} \mathbb{1}_{x \geq 0} + e^{5x} \mathbb{1}_{x < 0} \Rightarrow f(x) = f_1(x) + f_2(x)$

Notar que $f_1(x) = g(2x)$, $f_2(x) = g(-5x)$, con $g(x) = \begin{cases} e^{-x} & x \geq 0 \\ 0 & x < 0 \end{cases}$

$$\begin{aligned}
 \Rightarrow \widehat{f_1}(n) &= \widehat{g(2x)}(n) = \frac{1}{2} \widehat{g(x)}\left(\frac{n}{2}\right) = \frac{1}{2+in} \cdot \frac{1}{\sqrt{2\pi}} \\
 \widehat{f_2}(n) &= \widehat{g(-5x)}(n) = \frac{1}{5} \widehat{g(x)}\left(\frac{n}{-5}\right) = \frac{1}{5-in} \cdot \frac{1}{\sqrt{2\pi}}
 \end{aligned}$$

$$\boxed{\widehat{f}(x)(n) = \frac{1}{\sqrt{2\pi}} \frac{7}{n^2+3in+10}}$$

$$b) f(x) = \frac{1}{x^2 + 6x + 13} = \frac{1}{x^2 + 6x + 9 + 4} = \frac{1}{(x+3)^2 + 2^2} = g(x+3)$$

Con $g(x) = \frac{1}{x^2 + a^2} \Rightarrow \hat{g}_2(x)(\omega) = \sqrt{\frac{2}{\pi}} \cdot \frac{1}{2} \cdot e^{-2|\omega|}$

$$\hat{f}(x)(\omega) = \hat{g}_2(x+3)(\omega) = e^{3i\omega} \hat{g}_2(x)(\omega) = \frac{1}{2} \sqrt{\frac{2}{\pi}} e^{3i\omega} e^{-2|\omega|}$$

$$\boxed{\hat{f}(x)(\omega) = \frac{1}{2} \sqrt{\frac{2}{\pi}} e^{3i\omega} e^{-2|\omega|}}$$

g) $y(x) = x e^{-3x} \mathbb{1}_{x \geq 0}$, Notar que $\widehat{e^{-ax} \mathbb{1}_{x \geq 0}}(\omega) = \frac{1}{\sqrt{2\pi}} \frac{1}{a + i\omega}$

$$y'(x) = -3y(x) + e^{-3x} \mathbb{1}_{x \geq 0}$$

$$\Rightarrow \widehat{y'(x)}(\omega) = -3 \widehat{y(x)}(\omega) + \frac{1}{\sqrt{2\pi} (3 + i\omega)}$$

$$\Rightarrow (3 + i\omega) \widehat{y(x)}(\omega) = \frac{1}{\sqrt{2\pi} (3 + i\omega)}$$

$$\Rightarrow \widehat{y(x)}(\omega) = \frac{1}{\sqrt{2\pi} (3 + i\omega)^2}$$

$$\text{P2 | a) } \widehat{f(x)}(\lambda) = \frac{1}{\sqrt{\pi}} \int_{-1}^1 e^{i\lambda x} dx = \frac{1}{\sqrt{2\pi}} \frac{e^{i\lambda x}}{i\lambda} \Big|_{-1}^1 = \frac{1}{\sqrt{2\pi}} \frac{e^{i\lambda} - e^{-i\lambda}}{i\lambda}$$

$$= \frac{\sqrt{2} \sin(\lambda)}{\sqrt{\pi} \lambda}$$

$$\text{b) } \widehat{g}(\lambda) = \sqrt{\frac{2}{\pi}} \frac{\sin(\lambda)}{\lambda} \cdot e^{-\frac{\lambda^2}{4}} = \widehat{f(\lambda)} \cdot \widehat{\left(e^{-\frac{\lambda^2}{4}}\right)}$$

$$\sqrt{2} e^{-\frac{\lambda^2}{4}} = e^{-\frac{\lambda^2}{2}} \quad \lambda = \frac{\lambda}{\sqrt{2}}$$

$$\widehat{g(x)}(\lambda) = \widehat{f(x)} \cdot \underbrace{\frac{e^{-\frac{\lambda^2}{4}}}{\sqrt{2}}}_{\widehat{h(x)}} = \frac{\widehat{f * h}(\lambda)}{\sqrt{2\pi}}$$

$$\Rightarrow g(x) = \frac{f * h(x)}{\sqrt{2\pi}} = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} \mathbb{1}_{[-1,1]}(y) e^{-\frac{(y-x)^2}{4}} dy$$

$$g(x) = \frac{1}{\sqrt{2\pi}} \int_{-1}^1 e^{-\frac{(y-x)^2}{4}} dy$$

P3 $y'' - y = e^{-ax} \mathbb{1}_{x \geq 0}$ 

$$\widehat{y^{(k)}}(\lambda) - \widehat{y}(\lambda) = \frac{1}{\sqrt{2\pi}} \frac{1}{a + i\lambda}$$

$$(\lambda^2 + 1) \widehat{y}(\lambda) = \frac{1}{\sqrt{2\pi}} \frac{1}{a + i\lambda}$$

$$\Rightarrow \widehat{y}(\lambda) = \frac{-1}{\sqrt{2\pi}} \frac{1}{(\lambda^2 + 1)} \frac{1}{(a + i\lambda)}$$

$$= -\frac{1}{2\pi} \sqrt{2\pi} \left(\frac{1}{\lambda^2 + 1} \right) \left(\frac{1}{a + i\lambda} \right)$$

$$= -\frac{1}{2\pi} \widehat{h(x) * f(x)}(\lambda)$$

$$\boxed{-\frac{1}{2\pi} \int_{-\infty}^{\infty} \frac{e^{i\lambda x}}{(\lambda^2 + 1)(a + i\lambda)} d\lambda}$$

$$\frac{1}{\lambda^2 + 1} = \sqrt{\frac{\pi}{2}} \widehat{e^{-|x|}}(\lambda)$$

$$h(x) = \sqrt{\frac{\pi}{2}} e^{-|x|}$$

$$f(x) = e^{-ax} \mathbb{1}_{x \geq 0}$$

$$\Rightarrow y(x) = -\frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-a\eta} \mathbb{1}_{\eta \geq 0} \sqrt{\frac{\pi}{2}} e^{-|\eta - x|} d\eta$$

$$\boxed{y(x) = -\frac{1}{2\pi} \int_0^{\infty} e^{-a\eta} e^{-|\eta - x|} d\eta}$$